

# COMPOSITIO MATHEMATICA

ZHANG WENPENG

## **On the average of inversion of Dirichlet's $L$ -functions**

*Compositio Mathematica*, tome 84, n° 1 (1992), p. 53-57

[http://www.numdam.org/item?id=CM\\_1992\\_\\_84\\_1\\_53\\_0](http://www.numdam.org/item?id=CM_1992__84_1_53_0)

© Foundation Compositio Mathematica, 1992, tous droits réservés.

L'accès aux archives de la revue « Compositio Mathematica » (<http://www.compositio.nl/>) implique l'accord avec les conditions générales d'utilisation (<http://www.numdam.org/conditions>). Toute utilisation commerciale ou impression systématique est constitutive d'une infraction pénale. Toute copie ou impression de ce fichier doit contenir la présente mention de copyright.

NUMDAM

Article numérisé dans le cadre du programme  
Numérisation de documents anciens mathématiques

<http://www.numdam.org/>

## On the average of inversion of Dirichlet's $L$ -functions\*

ZHANG WENPENG

*Institute of Mathematics, Northwest University, Xi'an, China*

Received 26 November 1990; accepted 13 June 1991

**Abstract.** The main purpose of this paper is to use the estimates of the character sums and the elementary method to give a sharper asymptotic formula for the first power mean of the inversion of Dirichlet's  $L$ -functions.

### 1. Introduction

For real number  $Q > 2$ , let integer  $q \leq Q$ ,  $\chi$  denote a typical Dirichlet character mod  $q$ , and  $L(s, \chi)$  be the corresponding Dirichlet  $L$ -function. The main purpose of this paper is to study the asymptotic property of the first power mean

$$\sum_{q \leq Q} \frac{A(q)}{\phi(q)} \sum_{\chi \bmod q} \frac{1}{|L(1, \chi)|} \quad (1)$$

where  $\sum_{\chi \bmod q}$  denotes the summation over all characters mod  $q$  and the function

$$A(q) = \prod_{p|q} \left( 1 + \frac{1}{4p^2} + \cdots + \frac{\binom{2n}{n}^2}{4^{2n}(2n-1)^2 p^{2n}} + \cdots \right).$$

For mean value (1) or a similar problem, it seems to have not been studied before. This paper, using the elementary method and R. C. Vaughan's work, studies the asymptotic property of (1) and proves the following theorem:

**THEOREM.** *Let real number  $Q > 2$ , then we have the asymptotic formula*

$$\sum_{q \leq Q} \frac{A(q)}{\phi(q)} \sum_{\chi \bmod q} \frac{1}{|L(1, \chi)|} = Q \sum_{n=1}^{\infty} \frac{r^2(n)}{n^2} + o(Q^{1/2} \ln^2 Q)$$

where  $r(n)$  is a multiplicative function defined as follows.

### 2. Some lemmas

In this section, we shall give several basic lemmas which are necessary in the

---

\*Project supported by the National Natural Science Foundation of China.

course of proving the theorem. First we define the multiplicative function  $r(n)$  as follows:

For any prime  $p$  and any non-negative integer  $\alpha$ , we define

$$r(p^\alpha) = -\binom{2\alpha}{\alpha} / 4^\alpha (2\alpha - 1),$$

where

$$\binom{2n}{n} = (2n)! / (n!)^2, \quad 0! = 1.$$

For any positive integer  $n$ , let  $p_1^{\alpha_1} p_2^{\alpha_2} \cdots p_k^{\alpha_k}$  be the factorization of  $n$  into prime powers, define  $r(n) = r(p_1^{\alpha_1}) \cdot r(p_2^{\alpha_2}) \cdots r(p_k^{\alpha_k})$ . It is clear that the function  $r(n)$  is a multiplicative function. Using this function we can deduce the following.

LEMMA 1. *If integer  $n > 0$ ,  $\mu(n)$  is a Möbius function, then we have identity*

$$\mu(n) = \sum_{d|n} r(d)r(n/d).$$

*Proof.* Since  $\mu(n)$  and  $r(n)$  are multiplicative functions of  $n$ , we prove that lemma 1 holds only for prime powers  $n = p^\alpha$ . Considering the power series expansion of function  $(1 - x)^{1/2}$ :

$$\begin{aligned} (1 - x)^{1/2} &= 1 - \sum_{n=1}^{\infty} \frac{\binom{2n}{n}}{4^n (2n - 1)} x^n \\ &= \sum_{n=0}^{\infty} r(p^n) x^n, \quad |x| < 1. \end{aligned} \tag{2}$$

Squaring (2) and comparing coefficients we may get

$$1 - x = \sum_{n=0}^{\infty} \left( \sum_{t+s=n} r(p^s)r(p^t) \right) x^n$$

and

$$\begin{aligned} \sum_{k=0}^{\alpha} r(p^k)r(p^{\alpha-k}) &= \sum_{d|p^\alpha} r(d)r(p^\alpha/d) \\ &= \begin{cases} 1, & \alpha = 0, \\ -1, & \alpha = 1, \\ 0, & \alpha \geq 2, \end{cases} = \mu(p^\alpha). \end{aligned} \quad \square$$

LEMMA 2. If real number  $Q > 2$ , then we have

$$\begin{aligned} & \sum_{q \leq Q} \frac{A(q)}{\phi(q)} \sum_{x \bmod q} \left| \sum_{n \leq Q^2} \frac{\chi(n)\mu(n)}{n} \right| \\ &= Q \sum_{n=1}^{\infty} \frac{r^2(n)}{n^2} + O(Q^{1/2} \ln Q). \end{aligned}$$

*Proof.* From lemma 1 we may immediately get

$$\begin{aligned} \sum_{n \leq Q^2} \frac{\chi(n)\mu(n)}{n} &= \sum_{mn \leq Q^2} \frac{r(m)r(n)\chi(m)\chi(n)}{mn} \\ &= \left( \sum_{n \leq Q} \frac{r(n)\chi(n)}{n} \right)^2 + 2 \sum_{\substack{mn \leq Q^2 \\ n > Q}} \frac{r(m)r(n)\chi(m)\chi(n)}{mn}. \end{aligned}$$

From the orthogonality of the character, Schwarz's inequality, and the above we may get

$$\begin{aligned} & \sum_{q \leq Q} \frac{A(q)}{\phi(q)} \sum_{x \bmod q} \left| \sum_{n \leq Q^2} \frac{\chi(n)\mu(n)}{n} \right| \\ &= \sum_{q \leq Q} \frac{A(q)}{\phi(q)} \sum_{x \bmod q} \left| \sum_{n \leq Q} \frac{r(n)\chi(n)}{n} \right|^2 \\ & \quad + O \left( \sum_{q \leq Q} \frac{A(q)}{\phi(q)} \sum_{x \bmod q} \left| \sum_{\substack{mn \leq Q^2 \\ n > Q}} \frac{r(m)r(n)\chi(mn)}{n} \right| \right) \\ &= \sum_{q \leq Q} A(q) \left[ \sum_{\substack{n=1 \\ (n,q)=1}}^{\infty} \frac{r^2(n)}{n^2} + O \left( \sum_{n \geq Q} \frac{r^2(n)}{n^2} \right) \right] \\ & \quad + O \left( \sum_{q \leq Q} A(q) \sum_{\substack{n < m < Q \\ m \equiv n(q)}} \frac{r(m)r(n)}{mn} \right) \\ & \quad + O \left[ \sum_{q \leq Q} \frac{1}{\sqrt{\phi(q)}} \left( \sum_{x \bmod q} \left| \sum_{\substack{mn \leq Q^2 \\ n > Q}} \frac{r(m)r(n)\chi(mn)}{mn} \right|^2 \right)^{1/2} \right] \\ &= Q \cdot \sum_{n=1}^{\infty} \frac{r^2(n)}{n^2} + O(1) + O(\ln^3 Q) \\ & \quad + O \left[ \sum_{q \leq Q} \left( \sum_{n > Q} \frac{1}{n^2} + \ln^2 Q/q \right)^{1/2} \right] \\ &= Q \cdot \sum_{n=1}^{\infty} \frac{r^2(n)}{n^2} + O(Q^{1/2} \ln Q). \end{aligned}$$

This completes the proof of lemma 2. □

LEMMA 3. Let real number  $Q > 1$ ,  $y > 2$ . Then we have

$$\sum_{q \leq Q} \sup_{\substack{a, z \\ z \leq y}} \left| \sum_{\substack{n \leq z \\ n \equiv a(q)}} \mu(n) \right| \ll_A y \ln^{-A} y + y^{1/2} Q \ln^4(Qy).$$

*Proof.* (See [1] Theorem 4) □

LEMMA 4. Let  $y > Q^2 > 1$ ,  $A(y, \chi) = \sum_{Q^2 < n \leq y} \chi(n)\mu(n)$ , then we have estimate

$$\sum_{q \leq Q} \frac{A(q)}{\phi(q)} \sum_{\chi \bmod q} |A(y, \chi)| \ll_A Q^{1/2} y \ln^{-A} y + y^{3/4} Q \ln^2(Qy).$$

*Proof.* From Schwarz's inequality and lemma 3, notice that if  $A(q) \ll 1$  we may get

$$\begin{aligned} \sum_{q \leq Q} \frac{A(q)}{\phi(q)} \sum_{\chi \bmod q} |A(y, \chi)| &\ll \sum_{q \leq Q} \left( \frac{1}{\phi(q)} \sum_{\chi \bmod q} |A(y, \chi)|^2 \right)^{1/2} \\ &\ll Q^{1/2} \left( \sum_{q \leq Q} \frac{1}{\phi(q)} \sum_{\chi \bmod q} |A(y, \chi)|^2 \right)^{1/2} \\ &\ll Q^{1/2} \left( \sum_{q \leq Q} \sum_{\substack{Q^2 < n \leq y \\ (n, q) = 1}} \sum_{\substack{Q^2 < m \leq y \\ m \equiv n(q)}} \mu(m)\mu(n) \right)^{1/2} \\ &\ll Q^{1/2} \left( Qy + y \sum_{q \leq Q} \sup_{\substack{a, z \\ z \leq y}} \left| \sum_{\substack{n \leq z \\ n \equiv a(z)}} \mu(n) \right| \right)^{1/2} \\ &\ll Q^{1/2} y \ln^{-A} y + Qy^{3/4} \ln^2(Qy). \end{aligned} \quad \square$$

### 3. Proof of the theorem

In this section, we shall carry out the proof of the theorem, first for  $\operatorname{Re}(s) > 1$ . We can easily deduce that

$$\frac{1}{L(s, \chi)} = \sum_{n=1}^{\infty} \frac{\chi(n)\mu(n)}{n^s}$$

From the above and the Abel's summation we may get

$$\frac{1}{L(s, \chi)} = \sum_{n \leq Q^2} \frac{\chi(n)\mu(n)}{n^s} + s \int_{Q^2}^{\infty} \frac{A(y, \chi)}{y^{s+1}} dy \quad (3)$$

Since  $L(1, \chi) \neq 0$ , thus (3) also holds for  $s = 1$ . Taking  $A = 4$ ,  $s = 1$ , from (3), lemma 2 and lemma 4 we may get

$$\begin{aligned}
 & \sum_{q \leq Q} \frac{A(q)}{\phi(q)} \sum_{x \bmod q} \frac{1}{|L(1, \chi)|} \\
 &= \sum_{q \leq Q} \frac{A(q)}{\phi(q)} \sum_{x \bmod q} \left| \sum_{n \leq Q^2} \frac{\chi(n)\mu(n)}{n} \right| \\
 & \quad + 0 \left[ \int_{Q^2}^{+\infty} y^{-2} \left( \sum_{q \leq Q} \frac{A(q)}{\phi(q)} \sum_{x \bmod q} |A(y, \chi)| \right) dy \right] \\
 &= Q \cdot \sum_{n=1}^{\infty} \frac{r^2(n)}{n^2} + O(Q^{1/2} \ln Q) \\
 & \quad + 0 \left[ Q^{1/2} \int_{Q^2}^{+\infty} \frac{1}{y \ln^4 y} dy + Q \int_{Q^2}^{+\infty} \frac{\ln^2(yQ)}{y^{5/4}} dy \right] \\
 &= Q \cdot \sum_{n=1}^{\infty} \frac{r^2(n)}{n^2} + O(Q^{1/2} \ln^2 Q).
 \end{aligned}$$

This completes the proof of the theorem. □

## References

- [1] R. C. Vaughan, An elementary method in prime number theory, *Recent Progress in Analytic Number Theory*, Vol. 1 (1981) Academic Press, pp. 341–348.
- [2] Apostol, Tom M., *Introduction to Analytic Number Theory*, New York, Springer-Verlag, 1976.
- [3] Zhang Wenpeng, On the fourth power mean of Dirichlet L-functions, *Chinese Science Bulletin*, Vol. 35 (1990), No. 23, pp. 1940–1945.